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Look at the numbers in the trinomial and the binomial.

,, o

VvV + ]2v+r2?0=fv+ 2)(v+ 10)

3.5 Polynomials of the Form x2 + bx + ¢
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Simple Trinomials

- has three terms with the form...

ax2+bx+c
IXE+bx <

- a simple trinomial has an"a" value of 1.
- we use a method of inspection to factor them.

CHECK IT OUT!!!

INSPECTION METHOD

- here's how it goes... "What two numbers?"

Adds to get "b"

|

ax>+bx +c¢

|

Multiplies to get "c"

EXAMPLES...
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Sign's
/ « \ e P° S.c
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VL% Find two numbers that
multiply add:
to give —b . to give +)
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How does this compare to the factoring of

four term polynomials?7??7?7?
, Find two numbers that ;.
multiply aaa.

to give =k

X2 +1\x -0

break down middle term using those factors

X2 -2X + 3x -6

Pull out the !CF out of first two terms & Then Pull out the GCF out of last two terms

Pull out the GCF(which is a common Bracket)

- (X 2)xt 3)

to give + |

notice these are the factors So for simple
Trinomials you
can use the rule
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